[=fivi BRI 5% £% | BEST1 | BEST2 | BEST3 | WORST | BZ(4) | FIE
1 (@)l 52 70 +185.4| 8 | +78.7 | +73.5 | +59.6 | A26.4 | +233.0 |2.13
2 |0v<h +182.1| 8 | +67.5 | +62.9 | +58.1 | A6.4 | +301.2 |2.13
3 MR & +159.8| 8 $73.3 | 467.2 | +29.4 | A10.1| +185.5 |2.22
4 R |l 70 +159.3| 5 | +59.5 | +45.4 | +38.3 | +16.1 | +184.1 | 1.85
5 |EIBH EIFL +142.1| 6 | +79.7 | +54.8 | +29.4 | A21.8| +130.3 | 2. 21
6 | K8 =5k +139.3| 7 | +80.6 | +65.3 | +25.6 | A32.2| +190.3 |2.00
7T |BE —2 7O +135.9] 8 | +96.4 | +57.1 | +36.9 | A54.5| +101.1 | 2.31
8 |2 M¥ JO +135.3| 8 | +51.0 | +45.3 | +36.9 | +2.1 | +202.7 |2.13
9 =)l B= +133.4| 7 +67.8 | +65.7 | +38.2 | A38.3 | +125.5 [ 2. 11
10 %8 M¥ 70 +128.7) 7 | +71.5 | +39.7 | +34.7 | A17.2| +119.8 | 2.36
11 [KANTA +120.7| 8 | +72.4 | +48.6 | +46.3 | A46.6 | +158.3 | 2.28
12 (38 & +120.7| 8 | +62.9 | +55.2 | +36.0 | A33.4| +168.1 | 2.16
13 |RNEF SOEBLE +118.3| 3 [ +125.7| +30.6 | A38.0 $118.3 [ 2.17
14 |F#KE E0~Y J0 +103.4| 7 [ +102.9| +35.5 | +10.3 | A45.3| +66.7 |2.39
15 |E8 EE +97.4] 5 | +106.5| +28.0 | +6.7 | A43.8| +67.3 |2.50
16 [/N\& 23 +96.1] 5 | +71. +54.7 | +29.9 | AB0.2 | +92.3 [2.30
17 [I"H BL +92.8| 2 | +51.7 | +41.1 192.8 | 1.75
18 (LY RK70- +89.9| 8 | +72.4 | +33.5 | +18.3 | A34.3| +91.7 |2.31
19 (B8l BEX +89.2] 8 | +51.9 | +39.0 | +29.5 | A31.2| +65.3 |2.47
20 |28 +86.0] 7 | +51.0 | +40.9 | +25.0 | A30.9| +65.0 |2.36
21 Bl & +84.4| 8 | +55.8 | +43.7 | +41.2 | A56.3| +79.2 |2.22
22 /MR K 70 +83.1| 4 | +65.2 | +38.4 | A1.3 | A19.2| +83.1 |2.31
23 My +77.6] 8 | +46.8 | +44.1 | +43.3 | A56.6 | +41.9 |2.41
24 & Bk 70 +745| 6 | +53.7 | +53.7 | +19.7 | A52.6| +22.9 |2.50
25 [FoBvh +73.6] 4 | +45.2 | +33.6 | +6.3 | A11.5| +73.6 |2.00
26 |18F =% 70 +70.6] 4 | +51.8 | +19.6 | +0.1 | A0.9 | +70.6 |2.31
21 |6 8= +70.4] 8 | +85.0 | +17.2 | +9.6 | A41.4| AT.3 |2.47
28 [%H B8 70 +68.6| 1 168. 6 168.6 | 1.75
29 (AR HB +65.8] 7 | +69.5 | +27.8 | +21.4 | A52.9| +24.0 |2.57
30 [EE T +65.6] 8 | +89.3 | +37.0 | +29.1 | A89.8| +59.2 |2.41
31 |&i2 Rah +65.4| 7 | +52.3 | +37.4 | +27.9 | A52.2| +63.7 |2.36
32 BT A +58.7] 4 | +85.1 | +9.3 | A11.4| A24.3| +58.7 |2.06
33 | 168 +52.3| 2 | +39.3 | +13.0 $52.3 | 2.00
34 |78l ER +48.5 +48.5 +48.5 | 1.50
35 Ml & +47.8| 7 | +46.4 | +44.2 | +5.3 | A48.1| A25.2 |2.57
36 [HOSk +475| 6 | +71.1 | +44.7 | A22.9 | A45.4| A15.8 |2.63
37 |5F ®E +47.5] 8 $45.8 | +37.5 | A0.2 | A35.6| A19.0 |2.50
38 @ FK +47.0] 3 | +57.9 | A3.5 | AT.4 +47.0 |2.33
39 XL =R +46.0] 8 | +52.2 | +50.0 | +27.9 | A84.1| AB80.2 |2.66
40 |KOTO +43.5| 8 | +48.7 | +39.9 | +10.4 | A55.5| A20.8 |2.47




[={id 2= = S¥| BEST1 [ BEST2 | BEST3 | WORST | 2Z(R) | FIE
41 ﬁﬂﬁf‘ B 70 +41.3] 1 | +41.3 +41.3 | 2.00
42 |EB B 70O +36.1] 1 | +36.1 +36.1 | 2.00
43 /J\,ﬂz B +34.9] 8 | +30.8 | 30.2 | +19.6 | A45.7 | A14.5 |2.47
44 |FH =B +31.7| 8 $55.6 | +15.2 | A3.2 | A35.9| A30.2 [2.47
45 | EB FXEB 70O +31.4| 7 | +43.0 | +33.2 | +4.3 | A49.1| A28.8 |2.61
46 [fumifumi +31.1] 8 | +28.8 | +21.5 | +7.6 | A26.8| A19.1 |2.63
47 RS B 70 +29.9] 1 $29.9 $29.9 | 1.75
48 | k@ ZFH 70O +28.8] 5 | +47.0 | +8.8 | +0.4 | A27.4| +28.6 |2.40
49 |ERR P2ah 70O +19.4| 1 +19. 4 $19.4 | 2.50
50 [JIIAY fE— +18.2| 1 $18.2 $18.2 |2.25
51 |#88 AT +18.0] 3 $17.9 | +1.9 | A8 +18.0 |2.42
52 |BR % 7O +14.3] 1 | +14.3 $14.3 | 2.00
53 |& A= +12.7] 6 | +39.0 | +35.3 | +14.1 | AT5.7 | A46.5 |2.46
54 |tBch &N T0O +12.0] 2 +16.4 | A4.4 $12.0 [2.25
55 [#BTF ZFH +11.9] 1 | +11.9 $11.9 | 2.50
56 |HIRO(EE O +9.3| 1 19.3 9.3 | 2.25
57 |8 HI&E +9.0] 7 | +20.8 | +20.5 | +6.0 | A38.3| AB5.2 |2.71
58 |3Rifi =i2 +7.9] 1 7.9 $7.9 | 2.75
59 |(%5I5 16 +7.2] 1 7.2 +7.2 | 2.25
60 |t & +5.6] 1 15.6 5.6 | 2.00
61 |F8E #35 7O +2.1] 1 2.1 2.1 | 2.50
62 [)RiF % 7O +1.0] 1 $1.0 +1.0 | 2.50
63 (18 I 7O AO.1| 1 | AO.1 AO0. 1 [2.25
64 [BE NxR3F 7O AO03| 3 | +44.6 | +4.1 | A49.0 A0.3 [2.58
65 |BRED IR A3.4] 1 | A3.4 A3.4 [2.50
66 |EIF BB A4T| 1 | A4T A4 T [2.50
67 |dEh A48| 8 | +38.2 | +13.9 | +5.9 | A62.8| AT73.3 [2.66
68 |3 AKX A6.1| 5 | +22.2 | +13.3 | +11.5 | AB3. 1| A27.5 [2.60
69 [IBRE <BH A6.4| 3 | +25.4 | A13.6 | A18.2 A6.4 [2.50
70 (POIEB BEZST A7.0| 1 | AT.0 AT.0 [2.25
71 |8 #HE5 A88| 8 | +16.2 | +15.3 | +3.8 | A44.1| A134.4[2.78
2 |RF RS A11.4] 1 | A11.4 Al1.4 [2.25
73 |/\E A A12.0| 4 $33.5 | +10.0 | A1 4 | AD4 1| A12.0 |2.44
4 |k T2 A12.4] 2 | A2.1 | AT0.3 A12.4 [2.50
75 |FR Ak 70 A129| 8 +34.3 | +21.9 | +6.0 | AT5. 1| A97.9 |2.72
76 |B7E H\ 0O A13.6| 2 | +46.5 | A60. 1 A13.6 [2.63
7 |8BsAK B A13.8| 8 +43.0 | +7.3 | A11.8 | A52.3 | A105.5 |2.50
78 | #i2 J0 A16.1| 6 | +25.4 | A0.6 | A8.5 | A32.4| A58.4 |2.67
79 |PEE #%W 70 A16.3| 2 | A2.5 | A13.8 A16.3 [2.75
80 1Z@ &N 7O A165| 1 | A16.5 A16.5 [2.75




[={id 2= = S¥| BEST1 [ BEST2 | BEST3 | WORST | 2Z(R) | FIE
81 |&K R 70 A20.9 A20.9 A20.9 |2.75
82 (=48 X@ J0O A21.4] 1 | A21.4 A21.4 |2.75
83 |EMA Bt A235| 5 | +29.4 | +10.3 | A17.2 | A46.0 | A48.6 [2.55
84 |RIL &S A256| 8 | +44.9 | +20.3 | +10.8 |A101.6| AT79.3 [2.59
85 |&¢ IKE A25.8| 2 +19.4 | A45.2 A25.8 |2.75
86 |E@H BVE 70O A26.1| 7 6.8 | 46.7 | 45.7 | A45.3| A104.2 |2.54
87 BB =R A27.1| 1 | A2T.1 A27.1 [3.25
88 |FNR *hE A28.3| 2 +17.8 | A46.1 A28.3 |2.63
89 [RYOLLM A29.4| 3 3.9 | A3.5 | A29.8 A29.4 [2.50
90 |fEB #Li% A29.4] 1 | A29.4 A29.4 [3.00
91 |8 At 70O A295| 1 | A29.5 A29.5 [2.75
92 |EZ3EHN A29.7| 6 | +23.9 | +4.5 | +0.3 | A58.4| A43.3 [2.63
93 &z = J0O A299| 5 | +94.6 | A1.8 | A30.2| A92.5| AB61.8 [2.95
9 [EEB #¥ 70 A30.8] 2 | A1L.7| A19.1 A30.8 [2.63
95 B8 KK A31.2| 4 | +37.5 | 45.6 | A32.7| A41.6| A31.2 [2.63
9% |BIF Kk A31.4| 2 | A6.8 | A24.6 A31.4 [2.63
97 |FN A31.5| 1 | A31.5 A31.5 [2.50
98 |# 18 A31.9| 8 | +54.4 | +8.7 | A12.5| A82.5| A179.4 | 2.81
99 (Wl ¥ A322| 1 | A32.2 A32.2 [3.00
100 |—FP E=F A34.7| 1 | A34.7 A34.7 [3.00
101 B& BX A37.7| 4 $30.1 | +16.1 | A36.2 | A47.7| A37.7 |2.50
102 |/l A A40.5| 8 | +29.0 | +13.3 | A1.7 | A81. 1| A114.0 | 2.81
103 | LR &g 70O A40.6| 3 | +49.4 | A38.6 | A51.4 A40.6 [2.83
104 |%% B A42.0| 5 | +46.9 | +18.5 | A26.4 | A81.0| AT78.6 [2.65
105 [)\BB }02 70 A42.7| 1 | Ad2.T A42.7 [3.00
106 [fI252 MK 0O A429] 1 | A42.9 A42.9 [3.00
107 (@)1 BB A452| 1 | A45.2 A45.2 [3.25
108 |BR X5 A545| 1 | A54.5 A54.5 [3.00
109 |7T8S B8 AS54.7| 4 | +22.6 | AO.7 | A27.1| A49.5| AB4.7 |2.63
110 |7&@ &= A55.1| 1 | A55.1 A55. 1 [3.50
11 |0z A555| 7 | +30.7 | +4.6 | A14.9| A75.9 | A265.8 |3.11
112 [REY A A555| 1 | A55.5 A55.5 [3.50
113 s AKX 70O A56.6| 4 | +40.3 | +22.8 | A43.9| A75.8| A56.6 [2.56
114 |85 B3 A57.1| 1 | A5T.1 AS57.1 [3.00
115 [\ 85 A58.4| 5 +34.5 | +1.4 | A39.6 | AB4.7| A107.5|2.80
116 [RToE<h A599| 4 | A9.4 | A9.9 | A17.3| A23.3| A59.9 [2.69
17 | RA A77.9]| 2 | A23.3| Ab4.6 AT7.9 |2.88
118 |Zoltan Dinyesi A82.8| 1 | A82.8 AB82.8 [3.50
19 (W BX A91.0| 8 +13.5 | A9.4 | A27.0| AG8. 1| A285.0 |3.16
120 |B8 &A A91.8| 2 | A29.4| A62.4 A91.8 [3.25




{3z BRI &5 S¥(| BEST1 [ BEST2 | BEST3 | WORST | &E () | FIE

121|858 18 A116.3 129.6 | A20.8 | A49.8| AT5. 3| A183.6 [2.95

5
122 8B Kifat A134.0] 4 A10.4| A11.3 [ A38.8 | AT3.5 | A134.0]2.88
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